
Ex - 1o. D 
22) Date 

(2 Paga 
147 21 

19(3,5, Inunte sst 

23,4= Finta xt 

i O, 30, 40 o 20o =tint seE 

Setoenuntrg numbors bet agpnS and6 Emp 
1LSot a odd number betweon 7 and19. Nat omp- 
Set ak odd numbuts betuoeon and Emp 
iSet ok even numbars nat diuis ble by2 Empt oNat omphy 

( f3,s,1t and f 5,3,3)- Equal set 
i 610, 12 andL3,24,6= Equivalent sut 

1,2,1,22 and L,211: Equal ut i 2,,S, 3,10 Tand f ah,d,2,mt- Eawvalet sat 

4Seto integara Inknite 
Mulipley a 5 \nlinite 

REractona betuearn land 2 = Finite 
iNumber o- peaple inTadia.k= Inknite Setoreen in tho and = Innite viySet ok leave ona tru Ink1n1 te viSet o ae childrtona all he sSchosl o Delh. ut vii A-2,0,2,4,6,8=Inunute. 
i 12,1,-6-3,0,3,6 : Injinite_ No ak_poinb in a ltne. segmont hom long= Finle 



Natamghy 
iEmpky 
Nat &enphy Empky 

Not ompty 

Not empty 

VIEmpty 

VI)Nat emphy- 



6R)Eguialent sets 
iEqaleek ses Equal set 
Eguala 

V 

Vi) Equnalent sat 

Fine set 
iIninie sot 
Finie_sat 

Finte t 
vFinite set 
VI Finit set 

G Fale 
i Fale 
iy Tue 

Fals 
wii Fals 

vii) Iru 



Paga 

(9 Dsaint becau Xo_qirl can be belaur or above 15 ueai at the Jame. 
me 

Set Cand D ateAvelapping_because Dya-4 can be-abeb above 
he age n R0 and 2Eyearts 

4 Set A_and Bare os/erlapping_becaLse_Number rton0 lto 54 
came betumeon 90 and 60 and numbert Jtom 3 o 49 Comeunder 
50 2 

Sets 
t 

Pand Qare ouertlapping because dass X is commo0o hoth tte Sets 

VSetsA and B_are overelappng Oumbert 2 is Common to both the sete 

NLSets Pand arte disiount becaue number Delenment is nt comman to bath -he sets 


